
ตัวเหนี�ยวนํา

พารามิเตอร์ในวงจรไฟฟ้ากระแสสลับ



� ����������� 
�ื
�������� ���������� (Resistance) 
���"ึ$ �������
�������%
$&
'(
�ื
)��*��$+,,-� �.�
�����/����������+
'%
$��*��+,,-� 
�0���(����12�����������3��$4�+,,-���*����$ 30��15'1�67� R ��
�����89� 
&

�� (Ω)

� �����.�+,,-� 
�ื
�������� �
�(1������ (Conductance) 
���"ึ$ � �����.�+,,-� 
�ื
�������� �
�(1������ (Conductance) 
���"ึ$ 
���������"%
$�$4���/�
�3
���*��+,,-������"+
'>���+8+(� ����������12����
�'12%
$����������� 30��15'1�67� G ��
�����89�������� (S)

R
G

1
=



� 
��A��(��� (Impedance) 
���"ึ$ ����������������� (Total 
Resistance) %
$&
'( 
�ื
)��*��$+,,-�3��$4�+,,-���*���'12 �.�
�����/
�������+
'%
$��*��,,-� ��ื/
$4��
$��8�*�
2 (Element) 3��$4�+,,-�
��*���'124*8�*�
2(���8����7�0�$��
� (R+jX) �ึ/$���/��%�
$�12����"�/ (f) 
�'*�L��,�%
$�$4� (Phase Angle) 
��A��(���30��15'1�67��1� Z 
�����89��'*�L��,�%
$�$4� (Phase Angle) 
��A��(���30��15'1�67��1� Z 
�����89�
&

�� (Ω)

I

V
Z =



� &
'(
�ื
)��*��$+,,-��2�$

��89� 3 8�*�)� (1$��S

� 1.�������,&
'( (Resistive Load) +(���� &
'(��/�89��1���������A��$
���$�(��� 

� 2.
��(1���,&
'( (Inductive Load) +(����&
'(4.�A���1��
��/���.� 
(Inductive : L)��
�����1(�������� �Z���/ (H) ��ื/
��
�%���12�$4�+,,-�
��*���'124*�����
��A��(�����/�����0ื/
�\A�*��� 
��(1���,���
������ ��*���'124*�����
��A��(�����/�����0ื/
�\A�*��� 
��(1���,���
������ 
(Inductive Reactance : XL)

� 3.��8�����,&
'( (Capacitive Load) +(����&
'(4.�A���1���]28�*4L 
�ื
��/
���������
��0ื/

�ึ/$��� ��8�����
�� (Capacitor : C) ��
�����1(�������� ,��1(
(F) ��ื/
��
�%���12�$4�+,,-���*���'124*�����
��A��(�����/�����0ื/
�\A�*��� ��8�
����,���
������ (Capacitive Reactance : XC)



� �
(����(��� (Admittance) 
�ื
�����.��0�$��
� 
���"ึ$ ���������"3�
�������
�3
���*��+
'>��� 30��15'1�67��1� Y ��
������������ ������� (S)

� ���
������ (Reactance) 30��15'1�67� X ��
������������ &

�� (Ω) �2�$


��89� 2 0��( �ื

◦ 1.
��(1���,���
������ (Inductive Reactance) 30��15'1�67� XL �89������������◦ 1.
��(1���,���
������ (Inductive Reactance) 30��15'1�67� XL �89������������

4���)�A��/���(4������
��/���.�3�%('�(
�ื
�
�'� (Coil) &(�4*�.�3
���*��'��
'1$��$(1�
�89��L� 90 
$c� (I lag V)

◦ (1$�1S� 
�����89�&

�� (Ω)

◦ 2.��8�����,���
������ (Capacitive Reactance) 30��15'1�67� XC �89�����
�������4���)�A��/���(4�������]28�*4L%
$�1���]28�*4L 

◦ (1$�1S�  
�����89�&

�� (Ω)

fLLX L πω 2==

fCC
XC

πω 2

11
==



� �1���A����� (Susceptance) �������� �����.�4���)�A ���L7��21��3����
��]2A'1$$��+��3��e8��������
']�+,,-� �%������(����15'1�67��1� B ��
�����89� 
������� (S) �2�$

��89� 2 0��( �ื

◦ 1.
��(1���,�1���A����� 30��15'1�67� BL �89������.���/���(4������
��/���.�3�%('�(
�ื


�
�'� (Coil) �
�'� (Coil) 

◦ 2.��8�����,�1���A����� 30��15'1�67� BC �89������.���/���(4�������]28�*4L%
$�1���]2
8�*4L
�ื
��8�����
�� 

L
L X

B
1

=

C
C X

B
1

=





� 1.��*���12��$(1�4*���(
���,��1� 
���,��1� 
���,��1� 
���,��1� �ึ/$4*�.�3
��L��,�%
$�$4���/+(�����������12ce��� 
(θ=0)

� 2. ���
��A��(���4*�����12�������������� (Z=R)
� 3.�
(��������%
$�$4�����������12�����.� (Y=G)
� 4.�.�'1$$��+,,-���/���(%ึS�3��$4� "ื
����89��.�'1$+,,-��\'�/�

V2
� 4.�.�'1$$��+,,-���/���(%ึS�3��$4� "ื
����89��.�'1$+,,-��\'�/�

� 5.�������$(1�+,,-�01/��'*��*��+,,-�01/�%7*

� 6.������,���
��

R

V
RIVIPpower  average

2
2 ====

tIi

tV

m

m

ω

ω

sin

sinV R

=

=

°∠=

°∠=

θ

θ

2

2
V R

m

m

I
i

V



� �1�������� (Resistor) ��ื/
����*��+,,-�+
'>����1���������]4*�.�3
����(���
�����������(Resistance)��/�1��������%ึS�

V=Vmsinωt

VRIR

I=Imsinωt



สมการชั�วขณะ สมการเฟสเซอร์

°∠= 0
2
mI

I)0tsin( Ii m °+= ω
2

)0tsin( VV mR °+= ω °∠= 0
2
m

R

V
V

�����������%
$�1�������� 3��$4�+,,-���*���'12
����+(�4��

°∠=
°∠

°∠
== 0

0

0
R

I

V

I

V
R RR



� (1$�1S� 

� �.�'1$+,,-��\'�/� (Average Power) 

)sin)(sin( tItV

IVP

mm

R

ωω=

=

2
.

22
mmmm

m

IVIV
PP ===

� �A���
���,���
�� (Power Factor)

� ��ื/
$4����$(1�+,,-������,��12��*��+,,-� �L� θ=0° (1$�1S�

2
.

22mPP ===

Z

R
pf == θcos

10cos =°=pf



� �1�
���$1 �$4�8�*�
2(����1���������A��$
���$�(��� 4$
����

◦ �.��*����/+
'3��$4� (I)

◦ %.��$(1������
���/�1�������� (V)

◦ �.�.�'1$+,,-�%
$�$4� (P)

◦ $.�%����,���
��+(
*����◦ $.�%����,���
��+(
*����

I



� �.��*����/+
'3��$4� (I)

� %.��$(1������
���/�1�������� (V)

°∠=
Ω°∠

°∠
== 302

05

3010 V

R

E
I

� �.�.�'1$+,,-�%
$�$4� (P)
°∠=Ω°∠×°∠== 301005302 AIRV

W
V

R

V

WARI

WAVVIP

20
5

)10(

205)2(

20210

22

22

=
Ω

==

=Ω×==

=×==



� $.�%����,���
��+(
*����

V=10∠30°

I=2∠30°

30°

I=2∠30°



� �1�
���$��/ 2 �$4���/8�*�
2(����1���������A��$
���$�(���

◦ 4$�%��������%1/�%7*%
$��$(1� e(t) �'*��*��01/�%7* i(t)

◦ 4$�%����e8�'ื/�%
$��$(1��'*�e8�'ื/���*��

◦ �%����,���
��+(
*����



� 4$�%��������01/�%7*%
$��$(1� e(t) �'*��*��01/�%7* i(t) 

4�� 

VVVVm

Vm
Vm

Vrms

031122022

707.0
2

°∠=×=×=∴

==

tti

te

Hzf

A
V

R

Vm

t

314sin66.0)(

314sin311

3145022

66.0
470

311
Im

)(

=

=

=×==

=
Ω

==

ππω



� 4$�%����e8�'ื/�%
$��$(1��'*�e8�'ื/���*��

ωt

te t 314sin311)( =

tti 314sin66.0)( =

� �%����,���
��+(
*����

ωt

V=311∠0°V

I=0.66∠0°A


